
©D _2^0Y1d8W uK^uetkac PSkogfGtLwdaor`eL NLKLACs.F Q FAQlKl\ `rFingfhCtns[ Urfe]sWewrAvYebdI.P k qMIaYdueN YwiiXtxhM YIbnKfCiwn^ittfeH OAJlngzebbHrnas A2y.

Worksheet by Kuta Software LLC

Math-2

SM2 HW #5-3 (Factor Trinomials, lead coefficient is not '1')
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For each of the following equations:
a) What is the y-intercept?
b) Factor each completely.
c) What are the x-intercepts?

1)  y = 7x2 + 17x - 12 2)  y = 7x2 - 69x + 54

3)  y = 2x2 - 23x + 45 4)  y = 3x2 + 8x + 4

5)  y = 7x2 - 67x - 30 6)  y = 2x2 + 11x + 12

7)  y = 6x2 - 55x + 9 8)  y = 10x2 + 51x + 5
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9)  y = -2(x + 3)2
 - 4

 
a) Describe the transformation of the 
parent function
 
b) What is the range of the function?

10)  y = -4 + 3 x + 1
 
a) What is the "endpoint"?
 
b) What is the domain?
 
c) What is the range?

11)  What is the equation of a line that passes through: (1, 6) and (-3, 14)

12)  What is the equation?
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13)  What is the equation?
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